H & 0l & AHS B Ml A

SA: XIS
. Mollgle erMst A2l
Sl THoH A& CHH EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Xl==1t 9,686,904 10,148,763 A\461,859
Al 9,75
- 9,677,149
Moigls &t Al2el 1,813,793 1,225,854 587,939
Al 9,755
- 1,804,038
Kol AHE CHH 188,255 162,623 25,632
Saofl SHNHE MA = 188,255 162,623 25,632
201 Ler23 | 136,755 131,123 5,632
01 At2t2ltl 55,610 51,558 4,052
NEYUSHE S I
7,0002 %140 980
N=LELSE 04 2,500,000 14| 2,500
1)==2XH <204 22,160
2)P.POHCH(E) 4003 *20,000& 8,000
2)P.POCH () 250 *20,000% 5,000
2)PEHIE 34,0003 +502 1,700
2)p.p2 8,0002 1002 800
2)A s 1,200&*500H 60
2)2eHOHCH 2,200 *3,000H 6.600
N=LAIES |X2e 2,930
2 9. 000%<50) 450
2)=30| 20,0002 *50H 1,000
)= 3,800 «100H 380
2)ETHS(HHECIZE!) 12,0002 *50H 600
2)M 52 (HERIZE) 10,0002 507 500
NEadh 48 SAMN 2
200,000 x2H 4 1,600
NE=sRAGHH2ALIARYE 2+
70,0002 x3E #53] 1,050
1)==ghated =yl 16,350
2)&kgte A 29| 15,0002 x250& 3,750
2)DEA 29 13,0002 +250& 3,250
2l =2 5502 +5,000& 2,750
2) & ALE S 12,0002 *150= 1,800
2)g=xst 12,0003 x150= 1,800
2)z2(u2g) 25021+12,0002: 2 3,000
1)21=&H] ol 8,040
2)E3QI(13] BAIZIIE)
720,000& *3LH*22] 4,320
2)EIER(13] BAIZDIE)
620,000 «3CH*23] 3,720
02 S3=gHl 81,145 79,565 1,580




S Rl
. Mollgle erMst A2l
Sl THoH A& CHH (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NSANEEAAH SRS
1,666,606% 122 20,000
NEWE 2| 1,100,000& %12 1,100
DRIt (sR0l, +=2lHl-3t=2) 3,580
2)= = 62,5003 *23| x 122 1,500
2) X SIHE A 40,0002 23] 80
2)XSxHEHII 2,000,000& %14 2,000
NE=d B8 2,000,000 122 24,000
NYSSAEH SA2tell]
20,0002 *80IH 2=%62] 9,600
eIl |X2el 60,0002 ~85CH 5,100
1SHE DL EAIAE SAQS(63HA)
1,010,0002 122 12,120
NEIIRSB(CCTV S 3BMHA) 3,725
20 =223
910 #3kwh*33H A x 12+ 1.1 1,190
M 23 1203 *1,600kwh*12& %11 2,53
Note22 Y T242H Y 23
40,0003 *4JH A+ 128 1,920
203 =] 1,500 1,500
03 A=A =] 1,500 1,500
1)2tes & U238l 1,000,000 1,000
DM M= LA X GHErA
500,000 500
302 OI=H Mol 2a= 30,000 30,000
02 2RI S FES243 30,000 30,000
NE =L HHXIES X3
6.000,000& x5 30,000
405 KHaHE SH] 20,000 20,000
01 AL =S F = 20,000 20,000
Nes 2] A 200,000 = 100CH 20,000
SlEEny 29 ¥ |2 192,023 120,149 71,874
dEgEoy 29 2 |2 130,973 120,149 10,824
201 Ler23| 88,439 84,028 4,411
01 At2teltl 960 960 0
NRUBHIHA AEBR(EES MEX)
80,000& *1JH A+ 128 960
02 S3=gHl 87,479 83,068 4,411
NEJIetE2te] = 8,821
2)EES BEF(MY)
140,500 x 122 %1 .1 1,855
&S BEF (1Y)
637,200 «6& *1.1 4,206
2)&5s HRA(1Y)
418, 1002 x6E *1.1 2,760




SN EISD
S THollgl= otMBE T Al2E]
oelr SlsELY 2Y 2 72 (St &)
= - q LS
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
NADIE &J18H] B2 (53U E
HIE) 989
2)HHRI(SES)
1332 *1, 555kw*1JH A +1 . 1 228
2122 (53s)
691,000& *1JH Axx1 .1 761
NotMEI =22 (SHUSEHER) 1,949
201223
(167,500 +750kw*2CH* 1,069 )*1. 1 1,949
NUSEZY S =2AIEE MEAL HH
319,838 +6IH At 1,920
N=ZE2HEDZ 2/
900, 0002 *11CH 9,900
NHIAZED| RFH| 1,599& »75L*2CH 240
DEZY 2 J|IWAIE &2 49,619
N ESNANSEHSEDE) 22,471
ee2 7,220 »366kw<6E * 1.1 17,441
JHARI
152,43 *5,000kwh+6Z *1. 1 5,030
MBESNAANSESSHZA) 5,044
22 7,220 3 *Q0kw+6E *1.1 4,289
RIESE=de= 152 424 +750kwh*6Z * 1. 1 755
QML ENL(EESEIE 2| 2HA) 8,120
33 5,550 x105kw* 123 *1. 1 7,693
JEHHRI
107 . 73 +300kwh* 123 *1. 1 427
2)LPIBAMH(SETSEHIE 2| 5)HA) 13,984
32 6, 1603 x8okwx 12 *1 .1 6,993
JNHBEARI
132.43 x4, 000kwh* 122 *1 .1 6,991
N+ (MSXNEIE 2 2I04)
1,2703*30E+3M L6 686
Nol=ELS(MFXNEHIE 2 2944)
7302*30E+3 L6 3%
NEIE SAIS(ESED 2H0l, FZ2ZAl
HIo) 80,0003 * 104 L+ 122 960
NEIE S22
4,000,000 30 2~ 12,000
203 PRF=&IY| 600 600
03 Al Z=&IHS=XY| 600 600
NHSEHIY JRFA 600,000 600
401 AIZHIZ 28I 41,934 35,521 6,413
01 AlEHI 41,934 35,521 6,413
NUSEZY - oI HAIEERXE >
20,000,000& 20,000




M X1t
0|

. Mollgle erMst A2l
&l SEEEE 29 & sA2d (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NElSEEy FUEd 2A(S5H % 558
HNEEDH) 21,934,000& 21,934
ASELY = 82 wH 61,080 0 61,050
401 AIEHIX R0 61,080 0 61,050
01 A28l 61,050 0 61,050
NUSEHIY &5 HisBZ WX
61,050,000 61,050
old S Ald=E |2 1,433,515 943,082 490,433
Al 9,755
T 1,423,760
oldAlZ= &t 1,135,064 867,029 268,035
201 er23 | 73,364 41,119 32,245
2 35234l 73,364 41,119 32,245
3383 40,064
AUSILE HIIRS
70,0003 101 A+ 128 840
=t &e=3
300,000 *204 A x5 3,000
QE=U 4+ER3
300,000 »2) A x5 3,000
2tsE XMy
60,0003 * 1O A+ 123 720
2)EE1 =% M|
80,0003 304 A=+ 122 2,880
8=l 4=ER=3
110,0003 *30H A +6E 1,980
2)t2S HIIL3(R0IH) 13,349
PERS
6,290 +0.05kw*308S* 128 *1. 1 1,653
OFSERIeE
112.63 0. 05kw*398 S+ 13A1 2H+36524 % 1.1
11,696
2)R0Id XY M3
47.23+0.015kw2, 2125 *13A| 2H+3652 %1 1
8,175
2SI EY MHAAH SHRS
15,0003 #3404 2=+ 123 6,120
Nt 24 |zl 23,800
2HtEE+ |22l
3,500,000 +27H 2= 7,000
Dbz BASY
700,0003 #2042+ 122] 16,800
NOUSHNEEH 282
500,000 12 500
NEXE MY LS TDIRES
100,000 %102 1,000




SAM X1t
. Mollgle erMst A2
ool Sid £ AlEZ SRz (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1ot MELXHAIZES FA2c
800,000 %102 8,000
203 2=l 1,500 1,500
03 A=A PR FA| 1,500 1,500
oA S FA2e| RFL
1,500,000& 1,500
308 XXM SOIE 250,000 120,000 130,000
07 AX 2L FE= 250,000 120,000 130,000
NL0F S8+ 283
250,000,000& %12 250,000
401 AIZHIZ SO 810,200 704,410 105,790
01 Al&H| 806,000 700,000 106,000
1)SIEAE S FHISA
700,000,000 * 14 700,000
1)oHE GIZEAIAE ZH WX
106,000,000 * 14! 106,000
03 Al 20HHI 4,200 4,410 A210
1)SIEAE S FHISAL 28 AIERUHI
700,000, 000& *0. 6% 4,200
Xot=2SAE & HIAANE S22 (EX) 57,443 26,053 31,390
Al 9,755
- 47,688
201 fer= 3| 34,719 25,453 9,266
Al 3,118
- 31,601
01 At22t2l] 7,500 0 7,500
XISt =E2HA =8
120,000& +502] 6,000
XSt =2ZAE NS+ 204
1,500,0002 *14] 1,500
02 S3=gHl 27,219 25,453 1,766
NHIdE=AIE HIIR3 4,684
JERS
6, 1603 *5kw+QIH A x 122+ 1.1 3,660
)HHERI
107. 72 +80kwh*9IH A+ 123 %1 .1 1,024
NHIAES=AIE SR2tel
1,155,0002 *90H A 10,395
Al 3,118
- 7,277
NXGt=2x2=52 X2t
890,000 * 107 &~ 8,900
NXSt=E2 X2 =Y 2|
900,000 *32] 2,700
NXSt=RAEAE RUSLRS
5,000&* A+ 123 540




S Rl
. Mollgle erMst A2
ol S1E S AlME X2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 URFZH| 600 600
03 Al ZERIAREAY| 600 600
NOIPIZAAL B2l SLEA
600,000& 600
401 Al HIZ S OHbI 22,124 0 22,124
Al 6,637
- 15,487
01 AlZ8| 22,124 0 22,124
NYLR Hiag=AE 2EEA
2,732,000 74 2= 19,124
Al 5,737
T 13,387
nelgkel Hiatgs =SAIE e 3,000
2)ke & HMofE mA
3,000,000 * 104 2 3,000
Al 900
- 2,100
2018 =520t 24 H32E ZEMY 141,008 0 141,008
401 AlEHIZL SO 141,008 141,008
01 Al&H| 140,000 140,000
NUa2E & F2AxY ZX S
140,000,000 *14] 140,000
03 AIZSTHYI 1,008 0 1,008
1SA 2t 20| 140,000,000 0.72% 1,008
0| NANEZ2 T2EXY X(F FLIF0) 100,000 100,000
401 Al HIZL R 0HbI 100,000 100,000
01 Al&HI 100,000 100,000
NROIE NENER S2HXY X
100,000,000 * 14| 100,000
ot=JIEHAIES] &E & FH| 6,404,814 7,447,163 1,042,349
ot JHl & =LA XL = 6,404,814 7,447,163 1,042,349
ot=AlE=E B 2,758,288 2,718,043 40,245
201 fer=3| 109,838 105,993 3,845
01 AtR2t2|H] 21,401 19,563 1,838
NE=ZH 43 7Y S 105,300 8 H 843
NE=ZH 8X 7¢ 8 39,8002 *10H 398
Not+=30 A28 7
3,000,000 *14! 3,000
=2 S A
9,000 x 182 *24!+30! 9,720
NESHSHAHSRA)
25,0002 » 18 =22 900
NAIZ2eld L= 5,220
2)28= 70,0002« 18 *13] 1,260




2A:

Xl4=1
M ot=JIEIAIE2 BE 2 FHl
Gl Bl HH YL FAAY K& =X (SHol: )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
2)0tE 5t 70,0002 %18 +13] 1,260
2)R2 ¥ 3} 70,0002 *18% =13 1,260
2)eet= 80,0002 18 *13] 1,440
1)ot=&10 SLIZHIAIAY AER
110,000« 12& 1,320
02 S5=g4l 88,437 86,430 2,007
1atot=S g3l 300,000 %13 300
NYXE HAMABE IIRES
100,000 %102 1,000
1)0IE &t 998
RFRHI(FILR) 1,800 *110L*1CH 198
2)EEE 100,000 *4CH 400
2)==cltl 100,000 43 400
NAIEEH SXIHI(Gt+=&10)
4,000,000 * 14 4,000
1ot=&1 Zu= 10,017
2)MI123 1702 1, 350KWH* 12 1.1 3,030
2)M+=ER23 6702275 *128*1 .1 2,433
2)ot=ER23 600 *275E*12& *1.1 2,178
2)AZHI(ZAIDIA)
1, 1003 240 m* +x0Z 2,376
DESE SN 16,152
Q28R 700,000 =4CH 2,800
2) RS XA 130,000 *4CH 520
2)Z Al 70,0003 *4CH 280
2)¢ 2 1,600 *140L4CH* 12 10,752
A28 ¢ B 200,000 *43] 800
QEBNE RES 250,000 43 1,000
122 ZALS CCTV =2l
800, 00024 %3CH 2,400
1)ALAT(ZLR) 400,000 %182 7,200
NS Ky YEH(ZLE)
40,0002 18H 720
ot FHHZEX S22 45,650
2)EXEoA AIEEHl KXY
4,000,000 ~9CH 36,000
2)AZY 014 AIZEHI KX
2,000,000 *1CH 2,000
)T 23 50,0002 =17 CH+0Z 7,650
203 BR8] 2,380 2,380
03 AIM =LA RFAI| 2,380 2,380
1ot=AIE 2 FHl 9% 23l
1,300,000& 1,300
1ot=Ald2te| 2 2HE sl
30,0002 182 +23] 1,080




S Rl
M ot=JIEIAIE2 BE 2 FHl
Pl ote2tH Bl 2 ELEAY XS = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 91,910 93,820 21,910
01 MHZH| 91,910 93,820 21,910
Not=Ald 2 sXl2tel 82,910
DAHME £ U YA (FAYX L)
400,000 x40 16,000
28220l £ ¥ 2ral(1,000mm)
82,0003 x170EA 13,940
2)sl220l £ & 2 (500m)
45,0002 140EA 6,300
AT I EIoNB]
55,000 »600H 33,000
2)2¢eH 55,000& »70m* 3,850
2)AUE 9,902 %200 1,980
)22 TH(ZHOLAR)
14,0003 2005 2,800
2)01 == 24(D=300mm) 42,0003 *120m 5,040
NRAS SIS0l S2Z-20H(1,000mm)
180,000 *50H 9,000
303 Za= 2,160 1,800 360
01 Za= 2,160 1,800 360
3RE MY =5t 120,000& » 18 2,160
401 AIEHIX R0 2,507,000 2,509,000 /2,000
01 A28l 2,500,000 2,500,000 0
1ot=AIE2 2 SAt
2,500,000,000& *14] 2,500,000
03 A& S CHYI 7,000 9,000 22,000
1)SAR2E AIZ R0
2,500,000,000&%0.28% 7,000
405 AHaHE = 45,000 5,080 39,950
01 ML ESFSHI 45,000 5,050 39,950
1)ot=2t2 oCTV i 45,000,000 *1CH 45,000
ot =& 1,529,340 1,629,340
201 fet= 3| 23,040 23,040
02 S3=gHl 23,040 23,040
NELI 228 728 & =2l
970,000& » 12CH 11,640
NEL)| 282 950,000 *12CH 11,400
203 HR=H] 900 900
03 A=A PR 900 900
ot 28R =2 900,000 900
401 AIZHIX S0 1,505,400 1,505,400
01 AlZ2H| 1,500,000 1,500,000
1Note=E =4 SAk
1,500,000,000& *14] 1,500,000
03 Al 20HHI 5,400 5,400 0




SAM X1t
T GlI|BAIAY] BE 2 Tl
&2l o2t JHl € SEME XS =8 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
13ARZE Al RO
1,500,000,000& *0. 36% 5,400
ol-tg JEEH 89 170,000 170,000
401 AIEHIX R0 170,000 170,000
01 A28l 170,000 170,000
Nottis 2Ey 29
170,000,000 170,000
=Y ot+-U=E FHISA 604,280 602,660 1,620
203 gF=4| 500 500 0
03 A=A =] 500 500 0
1)ot+=UE FHISA 23
500,000 500
401 A& HIX R0 603,780 602, 160 1,620
01 AlZH| 600,000 600,000 0
1)ot=0E HHISA
600,000,000 *14] 600,000
03 Al 20HHI 3,780 2,160 1,620
1)SARZE AIZ R0
600,000, 0002 +0.63% 3,780
Kot =81 H=LXAIE EXISAt 701,000 701,000
203 HR=H] 1,000 1,000
03 A=A FAIH| 1,000 1,000
NELXAE &1 28 248 S
1,000,000& 1,000
401 AlZHIZ SO 700,000 700,000
01 A28l 700,000 700,000
122018 Xl 400,000 *1,5250H 610,000
NAFLRIAIE £X 150,000 *600HK 90,000
= HXAE X X 18,000 20,000 22,000
402 QI”F X201 & 18,000 20,000 22,000
01 RIEXF 2 AL E (XM TR ) 18,000 20,000 A2,000
nseole £x X
4,500,000 *40H 2= 18,000
EEZ % FH 2 3L == ot+=22 ZHISA 623,906 623,906
401 AlZHIZ SO 623,906 623,906
01 A28l 620,000 620,000
NEE2 B =M 2 ML == ot=2t2 FH|
SAk 620,000,000 620,000
03 Al 20HHI 3,906 0 3,906
13AR2E AL RO 3,906,000& 3,906
Tt CHBI S & M1 13,000 13,000 0
Metog2tel s st 13,000 13,000 0
KEOEE HSAAY RA24 13,000 13,000 0
201 =3 13,000 13,000 0




2A:

Kl==1t

M THHHCHHISZ2ERI D
=ny BN L=V IR 8= S k= o)) (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 13,000 13,000 0
NXEIEEASI| RUEFES
10,000,000 » 14 10,000
DNXZIEEAHED| =2l
3,000,000 *14] 3,000
Y =S ZH 1,455,297 1,462,746 AT,449
el 2| (XI==1t) 1,355,694 1,373,261 A17,567
olARAHH|(XI==1t) 1,355,694 1,373,261 A17,567
101 @124H| 1,182,383 1,163,263 19,120
03 BRA(RIH )22 U2+ 1,182,383 1,163,263 19,120
Not=AlE2e|d S0 1,182,383
20122 3,964,980 x18H 122 856,436
2)=g 70,124
3)y2+¢ 1,167,8702 x18&+23] 42,044
3)tESE 80,0002 x18H*12& 17,280
)¢ 40,0003~ 18~ 122 8,640
JIsHe== 20,0003 9 122 2,160
2)BEFOMI
3,964,980 18 »50%*22] 71,370
At 2R4E
165, 2803 * 150%+* 18 x2 2«62 53,551
ARL2RE
165,280 »200%* 18 x2 2L +6E 71,401
QARREFIISE
165,2803 x18H «20! 59,501
4 HSRESS 173,311 209,998 N\36,687
04 SR (RIH)22N BE=RES S 173,311 209,998 N\36,687
DEER== 1,184,539,000& *4. 5% 53,305
NHAEES 1,184,539, 000 x3.545% 41,992
NAIQALEE 41,992,000 *12.95% 5,438
NNEBEE 1,184,539,000& *1.75% 20,730
NAS TG EE S 1,184,539,000& * 1% 11,846
NSAUE RS 40,000,002 *1& 40,000
Jl2ZHI(Xl==1t) 99,603 89,485 10,118
JlE2Zbl(X==1) 99,603 89,485 10,118
201 et 3| 41,739 35,485 6,254
01 At22t2l] 41,739 35,485 6,254
AR 22l 2,325
)T HMEN S 2502 *5000H 125
ANZSE 190& 4, 0000H 760
QENSE 602 *4,0000H 240
2)ENE2ATL 1,000 4004 At 400
2)JI2ARESH] 10,0002 *20 & *42] 800
NEMARE 2 FX|2e] 4,530




SA Xt
;. ¥ I3
ool J1=2dHI(XI=1) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2)|AD] EU 140,000& 22 280
2)SAD| £ 350,000 12 350
2)=APDI X2 200,000& %12 200
2eloldEgy ZHEN
300,000 x4 E5+23] 2,400
2ozl = 350,000& 22 700
QHEHS 100,000 *23] 200
2)elloldZgle |Xiztel
200,000 *23] 400
Nol=gRFa 24|
9,000 * 19 #2041 x 12 »85% 34,884
202 04l 54,264 50,400 3,864
01 =LHA LI 54,264 50,400 3,864
NI12RF8 0l
20,0003 x 192 142 x 123 »85% 54,264
203 =4l 3,600 3,600
M FA2SHIFII 3,600 3,600
1)20@! 0I5t 300,000& * 122 3,600




